AR L s g e
AL B SR A

< HRIHFR
HhE E [ 1074 o
B prETT
HITEE EHKTER REE | FEE L 2R
HEE A2 Bl R E THEE | THEHR nE
149,704(52 ErREEBEETE 175.554] 178,668
137,950|1 FANEH 158,163| 160,442
95,821(11 EXRBEHE 110,863 112,580
95,078113 mEFH 2 4,438 4,048| TS E B S B
0 13,133 13,150(mk & A58
0 92,549 94,639\ % A
743[114 TETE 743 743\ R TR TR
4,401(12 BERSRBA BFTE 5,085 4,675
4,401(124 SERR A B < 4,438 4,048\ R R 2T S B
0 324 310\ - ElR - =5 - WEAE
B (—ME A M) R B2
0 323 317|HE -~ HE -~ HERAGE—E
AL R
1,246|13 REF T/ESR 1,410 1,526
1,234[131 JINESiR=¢ 1,410 LA AR hnEEE:
0 0 L15|FEBFEIEE ()
12]132 HDTE 0 0
18,953|15 %G 20,494 20,999
7,843[151 EiEEE 7,863 8,033| 44
11,110[152 GRS 12,631 12,966 548 TIE#E4:
7,718[16 BIR R M5 8,699 8,818
7,718[161 %k BRI R BBk = 1,178 1,174\ 5% N 23R IR 4 F245
0 5,622 5,782/ EREE N BRIk 2 12
0 1,899 1,862 RFE ~ (3R ~ FEEZATS TR
REFERE
9,81018 tBFE 11,612| 11,844
8,962[181 SEB T IREE 2,491 2,551 | A PRERBEHHED
0 6,201 6,336 | R Rk B
0 413 423| R RIEHED
0 1,899 1,862\ 25 FR LRk HHEN
848[18Y H A EF & 608 672| PRIt
8,352|2 e A 13,304] 13,439
1,254[21 IKEE 2,772 2,388
959212 TAEEEE 1,300 700| EE (& ZHAR & EE TIEAME
fHBENE600T7T)
0 900 900| BB % (s 51 900 F-IT)
2214 TAESGFTKE 50 50|7KE
29221Y HAIG K EE 480 480| & (HEER)
0 42 42|7KE (BB )
0 0 216|EE (HEE)
312[22 Elfact = 415 456
371221 B 60 60| EE
0 0 1|EE (BehEl)
206[222 BEaiE 270 270| EEEE:
0 0 AQ|EEEE (EE)

302-1




AR L s g e
AL B SR A
B dach e Bl

h#E R 107 o
By iiE%TT
HIEE EHKTER KEE | FEE L 2R
FEE F i B &L 3 THES | THEE nE
63224 I EEE 85 85|HuEm s
16123 RS 312 321
157231 BNk E 0 O| B TEIA L - 558 - Zil%
EE -~ (FEE - R R
BEE(RIEE)
0 250 250| B TEIANHIZE - s - 2%
EE -~ (FEE - R R
0 2 B TENEZE - F8E - ZilE
EE -~ (FEE - R R
EE (WS O5112 TT)
4236 EYiEt 60 60 iﬁzg - BIEEE R S
=¥
12124 ST S E 130 130
712|241 El 55T E 80 Q0| ZEX% K BB R R B4R ~ BRI ~
EBU R SEE T
49[246 ¥ EEE 50 50|48 4 S 1 L R At S e
2,470[25 BHREREE 4,660 4,030
730[252 —fEREEEE 0 150|3E ~ A BES ST AR (
IS )
0 1,400 S00| B =E ~ P\ EE B AT
a IR E TSI =B E)
506(254 HitrEeR g EE 0 240 %1&@%@2{%@%&%%%(5‘2%%
i)
0 500 500| HA e 2 (B 4EEE
196|255 e K i S i 0 60| EBRE ~ B - AR K,
HA MO 2 (B4 R (K
)
0 50 50|t fErE EE A i
0 550 550| BBk ~ EBNEEIE - EEASHEE K,
HAEE (S e
119[256 A SRR G e 0 30| 3 ~ R R R RN
S B AEE S (2 )
0 200 00|33 ~ MEdgEE R B iR mER
2 (B EE D
919[257 HIER M EEE 70 T0|BRK R AEEE
0 90 00| BRK e 4EIEE (BSZ HF51190TF 7T
)
0 0 0| F5sasc i ~ B ERH M B TEH
B EREE (BIER)
0 400 400| =R - B E R RS TES
B E LS (PR
0 1,400 SO0 | r5ax s ~ Bl aseffi M S TEH
B SR (S RS TR
RN 2 BRS B 600 T-TT)
15126 RizgE 0 18

302-2



AR L s g e
AL B SR A

B HRIHAR

HhEE R 1074 o
By iiE%TT
HIEE EHKTER KEE | FEE L 2R
FEE F #%& A R B THES | THEE nE
151268 B R g 0 18| B TR A BN TSR
b (=)
3,41927 — s 3211 4,128
1,220[279 ML B 0 Q0| Ze B 5 R 4 a8 (3%
ZIAMETTE) (BRI E )
0 360 360 | Ze e Rt R A (R
2 AME T (EEkES)
0 150 150X B2 S B i VR A S A (X
5 T19MI )
2,093|127D STHRELE A A BT 340 MOV NEFTE (250
SRR ) (W2 HF%11340F7T)
0 1,700 1,700 &L R AN B (
B RR RIS )
0 536 536|FFEHTE (A EIR B IRE
)
105[27F CEVSDRE Uk 125 122|208 B TS BERA &S
1,049/28 HEREE 1,750 1,914
20(282 B A G 20 20| Z Rt AN - KEEAT - BEA
B S50 A B IR A BRHIR
B2 4
269|285 S~ T~ RS 480 AR0| s 3| S S S T s
R A PR SR > TR ~
Ty ~ BEEEER
0 90 Q0 |¥HHFER 303 | S e 75 s v
YRR SEE - TR - B
Ty ~ BEEEER (WS HLEZ
RS EE ) (WCZHF%1 90TFIT)
0 30 N|EHBERZHEFEE L ES
WA (WSZOF5130F7T)
26[287 Zeatheln 8 ) slEalse e 0 30| YN R GE F S
0 80 80 iﬁg%@ﬁﬁ&%ﬂ%&%ffﬁ%ﬁ%
0 0 Q| HPG 2t e B K ik B sx
RO (IEE)
439[289 SRS R 750 750\ BB B R i - B BE
BV EE B (W2 6851700
Jt)
99|28A B et RS iR s E 150 150| ZabHFTastatingg « 2 4n4EE
NEEERENIE IR E
197|28Y HoAfir 150 150( B TR
0 0 126| 8 T EREIRFE (I EE)
52|29 NIFRE 54 54
52|291 NRIGRE 54 54 a}%’%—} ~ R R R A
1,384/3 el Al e 2,405 2,676
0131 SERfR 0 6

302-3



AR L s g e
AL B SR A

Z< RIS
thEE RE 10754 L
By iiE%TT
ke R | L SRRy
FEE F i B &L 3 THES | THESR
01313 SRS 0 6| e 5z Jeg e A P P 2 S s
R EE)
1,38432 Jzzfie =y =3 2,405 2,670
1,203|321 moA (EK) A 18 18| AP ESCEARTE « BRSERH
FEMT ~ fAEOKER - [
R NER P (HEER )
0 0 40| ATEFTESCEARTE ~ BRSERH
FEMT ~ fAEOKER - [
WANE (RO EE)
0 1,072 1072\ AP S BARGE ~ TR
FEMT ~ fAEOKER - [
WEANER (G2 66511, 072T-7T)
0 993 1187| AP S BARGE ~ TR
FEMT ~ fLEOKER - [
BN
12322 et 0 S| ATEREE « Wk
BEEA(RIIEE)
0 20 D0|ZEFTEREE - Wikt S
%%’ﬁﬁ
941323 SR B R ity RO 5% 100 100 BB R AL ~ FRAAE
{b& =]
0 0 0| AR R R AL - R
FESEF (RIS )
0[324 (2R S B B FH o 50 S0|EEE s
1|1327 ﬁ?ﬂ 0 0
41328 B i (IR B R BE T (e 0 6 1%1%?%9’5 - BRI RORIER (T
) BE)
0 66 66| R E ~ S R
70[32Y HoAt, 70 44| HeAth =7
0 16 4| At =7 (USZ BEF 16 T-7T)
967|7 % - 188) - #HEI ~ 7 1,059 1,483
& - IE - ROBERREE)
&
6|71 == ¢ 30 30
6|712 BirEEgs 30 30 %ﬁifg%éﬁé&ﬁ%@ﬁ%ﬁﬁ%
390(72 $8Bh ~ #EBNELAER) 520 550
390726 HEEhES B A4 4A 520 50045 BLER R > RIENER - A5H)ES
SR THESE
0 0 30
442174 HHRG(E) ~ 238 - & 52 463
) ~ FRGE RO
20742 AL R S| R i e 34 25| & v BhER SRS AR B (WS OF
& (17) ZFIEA 5134F7T)
420]747 R4~ B KBS 18 43R EIRIERE A B = EiR 4
130|75 BN REEE 457 440

302-4




AR L s g e
AL B SR A

Z< RIS
e IR 107 o
By iiE%TT
B e =l = e e
HUEEE % Ve u+ =N K%E J:%E %f%??l%\?iﬁ%
FEE F #%& A R B THES | THEE
130751 iR 457 4A0[BET ~ FH - TAE A B
PR B EEHAR > A ~ BT8R
EERFE AR H (WSO
117F71)
5509 HAfr 623 628
550[91 Htrsz 623 628
550[91Y At 25 25| B S
0 100 100 A =7 H (W2 FE511100TF7T)
0 188 188+ (8 7T ) ~ A EPE(180F
TC) ~ FETER A EKE
0 310 315 ;&%qﬂ%iﬁﬂ%ﬁﬁ%@ﬁ
798|5SM B N 6,250 3,500
7985 E%@lﬁl%ﬁ% ELEEK 6,250 3,500
FEE B REAREE
798|51 EEECEE 6,152 3,404
0512 B+ g B 1,000 0 @H%%%@ﬂmaﬁz B4
0513 W B R R i 800 904 gﬁ?g B R A B L e
528|514 P B R 1S 2,252 800| BB ~ MBI - FEASTERL K
AR AR R N B S Rk
ity e E k= 4t
0 0 SO|EERE ~ BN - BB AT K
HA MO AE R & A (=
&)
29(515 M B A0 3 R s 0 SO|fEBE AR ~ IEEE S KRR
R ()
0 1,200 600|EE =T ~ AR K —HAf
EDTAR SO = R AR S B
LT %# L
241|516 T B (T IE 900 Q00| TS ~ Bl a1 R & TS
gf“%e?ﬁﬁ%
0 0 100|735 0 ~ =5 R & IEH
B SR (BEE)
052 EEREPEE 98 96
0521 T B i 98 06|MEEEMIEFE AL - EREA
4 ~ BEALHIE (B H ) FE
i
150,503 aa =t 181,804 182,168

302-5



